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thg 1294 oBDEC 9] Y o]= 40cm? ©] 1, AADE 2] Ho]= 16cm?2
2 o], ABEC 9] Y o]=?

A B, C
D E
@ 24cm? @ 26cm? ® 28cm?
@ 30cm? ® 32cm?

AADE = ABDE,
ABEC = oBDEC - ABDE°| B2
ABEC = 40 - 16 = 24(cm?)




thS 904 AB//DCol1, AABC = 16cm?2, ADBE = 34cm? &
o, DABED 9] Ho]=?

A D
B C E
® 30cm? @ 35cm?2 ® 40cm?
@ 45cm? ®)50cm?

AB//DCO]E& AABC = AABD = 16(cm?)
.. OABED = AABD + ADBE
= 16 + 34 = 50(cm?)
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AM :MB = 2:3°|t}. gABCD = 60cm? 9 o, tMBND 9] {o]&
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> &= 33 cm?

ADMB = gAABD = %DABCD

ADBN = %ADBC = %LDABCD

oMBND = ADMB + ADBN

= %DABCD
_1 _ 2
= %X60—33(cm )




th2 1304 AC//DE ¥ w, AABC = 24cm? ©]t}. oABCD 2]
WolE ool
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[> H™EF. 40cm?

B )

AC//DE ©]|E& AACD = AACE
oABCD = AABC + AACD

= AABC + AACE
= AABE
(£°]) =24x2+6 =8(cm) O|EZ

OABCD = AABE
=10x8x % = 40(cm?)




7. e 132 AD//BC ol AlthelEolth. AACD = 36cm?2, AABO =
20cm? & T, AAOD 9] Ho]& Latolat,

A D

[ 2
> Hehl 16 cm?

AD //BC o|B& AABD = AACD ©|1, AAOD & ZEo|nzg
AABO = ADCO
wak AAOD = 36 — 20 = 16¢m?




8. T 197} go] AD//BC 9l AlHe]Z ABCD o] RO : CO = 1: 3
o]T AAOB = 6em? & T, AOBC 9] Hol& Faola}.

A
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[> ®™Eh: 18cm?

AABO , AOBC + &°|7} 211 @/io] o2t
AABO : AOBC =1:3=6cm?: AOBC ... AOBC = 18cm?




